TB-D5016

YOK-006

d technology for safety

Termination Board 16 positions for
Yokogawa Prosafe RS with
Analog Input card SAI143

Characteristics:

General description:
This Termination Board (TB) provides direct connection between the I/O Card of the
system and D5000 Series modules. The Intrinsically Safe protection and signal isolation
between Safe and Hazardous Area is provided by D5000 Series Associated Apparatus.
The 24 Vdc Power Supply of the TB is connected to two plug-in terminal blocks, for a
redundant power supply. The power supply for modules is given by TB power bus.

Termination Board general characteristics:

Termination | Number of | Features

Board Model | positions

TB-D5016- |16 I/0 Card redundancy;

YOK-006 Power Supply voltage redundancy;

Abnormal supply voltage signaling;

1)

2)

3) HART multiplexing;

4)

5) Cumulative module fault signaling.

Supported Yokogawa Prosafe RS I/O Cards:

/0 Card /O Card | Number of | Number of | Number of | Supported
Model Type channels I/O Cards | channels GM Modules
per /O Card | per board | per board
1+(1)*2 16 D5011S
D50148*
D5072S*
SAl143* Analog In | 16
2+(2)*2 32 D5011D
D5014D*3
D5072D*

*1 card must be configured as current sink.
*2with possibility of I/O Card redundancy.
*3module must be configured as current source.

Features:
e 2 x Al card type SAI143 (16 channels) Analog Input board interface.
¢ 16 positions Terminal Board for up to 32 channels.
o Lower cables installation and maintenance costs.
o Power supplies fault monitoring.
e Spare fuse provided.
¢ Mounting hardware provided for:
Single Din Rail mounting kit;
Wall mounting, M4 self tapping screw;
Wall mounting, M4 thread screw.

Ordering Information:

Model: TB-D5016-YOK-006 |

Technical Data:

Supply:
24 V/dc nom (20 to 30 Vdc) reverse polarity protected, double terminal blocks for
redundant power supply, with OR diodes to mix supply voltages.
Connection: by polarized plug-in disconnect screw terminal blocks to accommodate
terminations up to 2.5 mm2.
Protection fuse: 4 A slow blow (spare fuse provided on Termination Board).
Fault detection: (for more information see Fault Logic section)
Abnormal supply voltages or module cumulative fault: PWR 1 or PWR 2 is in
under (< 18 Vdc) or over (> 30 Vdc) voltage condition OR module cumulative fault
indication.
Relay fault signaling: a voltage free NE SPST-1 Form A relay contact (de-energized in
fault condition), with the following characteristics:
Contact material: AgCdO.
Contact rating: 2 A 36 Vac 72 VA, 2 A 48 Vdc 80 W (resistive load).
Mechanical / Electrical life: 30 * 108 / 1 * 105 operation, typical.
Connection: by polarized plug-in disconnect screw terminal blocks to accommodate
terminations up to 2.5 mm2.
LED fault signaling: 1 green LED (PWR 1 OK); 1 green LED (PWR 2 OK);
1 red LED (UV or OV of PWR 1); 1 red LED (UV or OV of PWR 2);
a cumulative fault red LED.
Prosafe RS I/0 card interface:
Connection: four 40 poles male connectors (require female mating connectors).
HART Multiplexing:
Connection: two 34 poles male connectors (require female mating connectors).
Field signal:
Connection: directly to module by polarized plug-in disconnect screw terminal blocks to
accommodate terminations up to 2.5 mm2,
Environmental conditions:
Operating: temperature limits — 40 to + 70 °C,
relative humidity max 90 % non condensing, up to 35 °C.
Storage: temperature limits — 45 to + 80 °C.
Mounting:
Hardware included for mounting on wall and single DIN rail.
Weight: about 400 g (excluding modules and mounting options).
Location: Safe Area / Ordinary locations.
Dimensions: Width 267 mm, Depth 176 mm, Height 125 mm.

Image:

G.M. International DTS0402-4 Page 1/16

www.gmintsrl.com



Loop Diagrams for Prosafe RS SAI143 (16Al) Interface Card:
HAZARDOUS AREA

1 ()

In2 @

n1@

SAFE AREA
TB position 1 to 16 for double channel Al module
- - - - - - - - H,_L\RT
MODEL D5011D ‘ Fr 777777 Multiplexer
SNT—Xor
e -b 1! 16 Al
HHT [ | —| First
* /N = - ~ | CN SAI143
il y74n - ! 16 Al
sall | % /Z/HB8 [T Noe ||
[
! ! 16 Al First
= ] | —  SAI143
/=\H —— b 16 Al
HHT I ‘ \ Redundant
T wCEl/H e T e || o | o
— CN3 SAI143
[ 16 Al
ﬁ - 16Al | Second
Termination | | —= SA143
board W CN4
\—‘ connector . 16 Al
Redundant
N
| 1
I
|
f Supply from TB
TB position 1 to 16 for single channel Al module
- - - - = - H/_&RT
MODEL D5011S ‘ r Multiplexer
_N -5t
Va X - ! : 16 Al
. ART 2 \ ; . = saAn43
(= - E -) 16 Al
el | % /H 8 [T N
16 Al
~ SAI143
CN2 16 Al
Redundant
CN3
Ter{)ninaéion
vV oar
\—‘ connector CN4

fSuppIy from TB

G.M. International DTS0402-3 Page 2/16



Loop Diagrams for Prosafe RS SAI143 (16Al) Interface Card:

HAZARDOUS AREA SAFE AREA
TB position 1 to 16 for double channel Al module
— -
e * HART
L Multiplexer
nt -0 MODEL D5014D o e P
n gt
‘ X —)5+ (g
i HHT =
External ZMX+ 1 7 S /= = || - ‘ : : : 16 Al First
Powered Tx | ? (O I 2 [ | CNM SAI143
* | S 1 £ = [ - L 16 Al
- i |- |
. 11 - % @ ‘ -2 : ‘ .
D 16 Al First
= | - CN2 —> | SAI143
2Wire Tx | HHT =/\ T 16 Al
External — : 9 =\ [ P (Redundant)
? . (- 1 |
Powered T): 10 ' \ \ 3 | |
- — = = ‘ 16 Al
L 12C A /* @ I >4 - — | Second
= C = -) | | CN3 SAI143
16 Al
n2 ()
47/—]7 16 Al Second
o || 1w [ s
connector (Redundant)
i
1]
||
|
f Supply from TB
TB position 1 to 16 for single channel Al module
In1 @ MODEL D5014S
= —)5+
i HHT =\ 77777777777
External ZM( - - — /_ [ =)6- oo - - - - - - -7 HART
? LI T [ = P :
Powered Tx ! | i | [ | Multiplexer
+ | | 8(— — ] = @ ‘ ‘ [ _)1 |
5 N L |
. 11 - / _)2 -
) 16 Al :
: : First
CN1 SAI143
16 Al
16Al First
SAI143
CN2 16 Al
(Redundant)
Termination CN3
vV board
connector
CN4
+
_ Supply from TB

G.M. International DTS0402-3 Page 3/16



Loop Diagrams for Prosafe RS SAI143 (16Al) Interface Card:
HAZARDOUS AREA SAFE AREA

TB position 1 to 16 for double channel Temperature module

MODEL D5072D
5+
1 ) =x I -
é -6 16A|| First
Pot. 3 wire RTD [ CN1 SAI143
" % — 1 - 16 Al
+ | L e - / B ‘ ‘ [ -2
< 8 'y 16 Al First
t_ C —® | SANM43
CN2 16 Al
Pot. 3 wire RTD
10 3 (Redundant
TC — (o2 = =
+ | | 11<= — /* ‘ ‘ ‘ ‘ X =>4 16 Al
< & — | Second
12 —| CN3 SAI43
- = o 16 Al

In2 @ j%
16 Al Second
Termination | SAI143
T Thoard —| oM 16 Al

connector (Redundant)

fSuppIy from TB

Cumulative Fault

TB position 1 to 16 for single channel Temperature module

MODEL D5072S
3wire 4 wire _ -5t
Pot. RTD RTD =\ o 16 Al i
9 - W/ : [ -b" e First
(T | | = ‘ CN1 SAI143
. 0] | - 16 Al
el L0 L O AN
' 8, A . 16A1 | First
- = " - SAI143
g 16 Al
In1 @ (Redundant
CN3
o
~~1| Termination CN4
board
connector
N |

f Supply from TB

Cumulative Fault

G.M. International DTS0402-3 Page 4/16



Termination Board Description:

o
e c
9z £
3 =
- 3
o

s 7
o [
h =
mS
[= )7y o
=3 =
&5 8

Alarm

24 Vdc
PWR1

24 Vdc
PWR 2

ZHMd L dWd

Alarm Relay RL1

0D LHVYH

NOILVOO01 / VIV SNOQYVZVH
NOILVOOT AYVNIQYHO / VIV 34VS

» 3
3
o
o
-
=)
=

HART Multiplexer Connector (X3)

Connector, 40 poles (CN1)

Redundant Connector, 40 poles
(CN2)

89|0d ¥E
aqed ey

HART Multiplexer Connector (X4)

Connector, 40 poles (CN3)

Redundant Connector, 40 poles
(CN4)

10)23UU09
1HVH e

Locking details

G.M. International DTS0402-3 Page 5/16



Termination Board Fault Logic:

LED Signaling:

Meaning of LEDs on termination boards:

TAG LED COLOR MEANING
PWR 1 0K GREEN | The LED is on when PWR 1 is within the regular range (>18 V and <30 V).
PWR 1 Over or Under V | | RED The LED is on when PWR 1 is in over-voltage (>30V) or under-voltage (<18 V).
PWR 2 OK GREEN | The LED is on when PWR 2 is within the regular range (>18 V and <30 V).
PWR 2 Over or Under V | [l RED The LED is on when PWR 2 is in over-voltage (>30V) or under-voltage (<18 V).
Cumulative Fault [l RED The LED is on when at least one module / barrier reported a fault.

Relay Activation Conditions:

The two relays are activated according to the following rules:

TAG ACTIVATION
The relay is energized when the following two conditions hold:
1. both supply voltages are within the regular range
ALARM (>18 V and <30 V).

2. No module / barrier fault is reported.

PWR1 PWR2

+ - + _

Alarm

I T 1Ay Y
G.M. International s.r.|.
20852 Villasanta (MB)

PWR 1

PWR 2

Cumulative

Fault
=

OK =
Fault-i=

QK =0
Fault-#=

G.M. International DTS0402-3 Page 6/16



Termination Board Connections (for single channels modules):

SAFE AREA / ORDINARY LOCATION

SAI143
SAI143 16 Al CARD
16 Al CARD (Redundant)

¢ )

CH1TO 16

CH1TO 16

System cable

System cable

Alarm PWRY PWR2
i

CNL

HART MULTIPLEXER
INTERFACE

HART cable

CH1TO 16

CN2

RL1

Flat Cabl

HART Connector 34 Poles

—
ol res

| I
| |
| |
|

HART -
" Connector .
i pg, -

Pos 15

Tl
[

HAZARDOUS AREA / LOCATION

G.M. International DTS0402-3 Page 7/16



Termination Board Connections (for double channels modules):

SAFE AREA / ORDINARY LOCATION

First Second
First SAI143 Second SAI143 HART MULTIPLEXER
SAI143 16 Al CARD SAI143 16 Al CARD INTERFACE
16 Al CARD (Redundant) 16 Al CARD (Redundant)
CH1TO 16
CH1TO 16 | CH1TO 16 I CH1TO 16 CH1TO 16 I
CH1TO 16 -
o o
|1 ®
System cable © ©
System cable System cable ét_: 'Q;C
T T
System cable

Alarm PWRY PWR2
e

HART Connector Flat Gable HART ‘=
T Connector ‘ .

Ho pos 15

- | - - o (m im:

|

G.M. International DTS0402-3 Page 8/16

HAZARDOUS AREA / LOCATION




DIN Rail mounting overall dimensions:

Bottom view

O o o © © O O © O O O O OO O O

oo O 0 © O O O O OO OO OO O

118.0 [4.65"]

58.0 [2.28"]

176.0 [6.93"]

oV X
ol
oDV X

\
Y=
[ ool
I W U T
[ —C=a
[ ol
[ o= [ 1om
[ ol
[ o]
[ o]
\
Y=

- 267.0 [10.51"] _
Side view
12.5[0.49"]

e

BE B |58 |BE) |8 |EE BB |EE BB |EE) || |EE) |BE| B8 |HE| |58
il = 2 EE 2 = 2 2 = e
© ey ey leg| |leg| g ey e kg kg g el el el |Ieg] |Ieg] es)
< I | | | | ) 1 | O I O 1 | 1 I 1 |1 O 1 N | | I A
o |EB||EE| EH| BB [EH [BEH| EE |EE) [EE| [EE| | EE| |EE) |EH| B EE| [EE
[s2] L I . [ ] I I I [ ] I I . [ ] I .
Q ST S ) S | O | | S S S S S | B

[ [ o™ [ o

I [ o™ [ o

I [ =7 T

I [ o™= [ o
o=l

il —E

I [ o™ [ o

I
]

=i |
—
—

125.0 [4.92"] _

»‘

145.0 [5.71"]

All dimensions are expressed in millimeters [inches]

20.0 [0.79"]

G.M. International DTS0402-3 Page 9/16



DIN Rail mounting features:

Mounting features kit TB-OPT-001

135 DIN Rail

T35 DIN Rail
Ref. Nr Q.ty Description Material
1 2 T35 Din Rail Adapter PA
2 6 3.5 x 9.5 Self tapping screw Stainless Steel
3 6 M3 External Tooth loch Washer Stainless Steel
4 6 M3 Washer Stainless Steel
5 2 6 ¢ 20 Spacer PA

G.M. International DTS0402-3 Page 10/16



Wall mounting overall dimensions for M4 self tapping screw:

Bottom view

='—A
’ | E
| s
- N - - - - R
o i
@@@@@@@@@@@@@@@ _
| 8 N
| = o
! ~ =
| " 2
| =
|
| |3
" -
‘GDGDGD@@@GD@GD@@@@@@i “m’l
| |
9.6 [0.38"] L 248.6 [9.79"] J - 8.8 [0.35"]
267.0[10.51"]
Side view

-
N
(6]

'S
~
©

¢

O T e I ] |
[e]
(e}
(o]
e}
(o]
(e}
O
(e}
O
o
(e}
S
(o]
5
(o]
O
O
O
(o]
(e}
O
O
o

143.8 [5.66"]

TTEEE !
T E
BERIEE
R A |

TEE
CRERIER]
CHERIER]
B
EEERIER]
ERERIER]
T E R |
CRERIER]
CEERIER]
CEERIER]
CHERIER]

[
o
[
o
pa
o

123.0 [4.84"]
125.0 [4.92"]

5
}

18.8 [0.74"]

All dimensions are expressed in millimeters [inches]

G.M. International DTS0402-3 Page 11/16



Wall mounting features for M4 self tapping screw:

Mounting features kit TB-OPT-001

Ref. Nr Q.ty Description Material
6 4 M4 x 8 Screw Stainless Steel
7 4 M4 External Tooth lock Washer Stainless Steel
8 8 M4 Washer Stainless Steel
9 4 Self Tapping Spacer NI - Plated Brass

G.M. International DTS0402-3 Page 12/16



Wall mounting overall dimensions for M4 thread screw:

Bottom view

| | =,_“ \
| R
| | -
| 3
o o o o . . R |
o t
@@@@@@@@@@@@@@@@i .
| | 8 )
™ 521
| S ©
| | ~ o
| T =
| | T
o 0 ]
|
| | —
| e
| | ﬁ
b B
‘GDGD@@@@GD@@@@@@@@i 3' |
| |
9.6 [0.38"] L 248.6 [9.79"] J 8.8 [0.35"]
267.0 [10.51"]
Side view
. 12.5 [0.49"]
- I
D EEEEEEEEE o
HE| [EE| [EE| [EE| [EE| |[EE| |[EB| EE| |EE| |[EE||EE||EB| EH HE| [EE
g ey gl |leg| |leg g eg| kg el g kY| |eg| &9 E= ==
=" |EE| |EE |EE| EE| EE| EE| EE||EE| [EE| [EE [EE| [EE| [EE [ELE|  ELE] _
Q| |oo| =a e e e les| e Bl e les| e Bl e c=llES S o
<t ) [ce]
> |FH| BB |EE| BB |EE |6 [EE| |EE| 26| 26| |EE| 5| 5 EE| [ =) 5
g )
= ¥

]
L

16.8 [0.66"]

All dimensions are expressed in millimeters [inches]

G.M. International DTS0402-3 Page 13/16



Wall mounting features for M4 thread screw:

Mounting features kit TB-OPT-001

Ref. Nr Q.ty Description Material
10 4 M4 x 8 Screw Stainless Steel
1" 8 M4 External Tooth lock Washer Stainless Steel
12 8 M4 Washer Stainless Steel
13 4 Threaded Spacer NI - Plated Brass
14 4 M4 Nut Stainless Steel

G.M. International DTS0402-3 Page 14/16



Connections table to Interface Card:

T
k] o S c Eow o ks
s Soude—s 2582%% ¢ s
_m Sloxe 5 @ LA Z® DS £l 5 a2 Q3T
V=ZZ SO o D T C o Xl=l.. 00 c 2 o
= Sl glo|jole =2 D5 L cc w o Q ° o »
| @ o T —| o= ™ <
e s 8 8T 2E2NZ 8 g5 | gX[2mH L Z o
Qo & DL -0 B0 0o 0D S5 sL s g EO D
c38l5ee22sc25823 TI33Y=22388¢
—_ -— © >S5 o Q S
° °
(GRS
PAK e Y [y iy Y [y iy [y Iy [ iy Y (Y iy [y iy iy iy Uy iy Y Y Y iy gy Y — — — — — —
SRR R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R
MHPWM,vm\““/vm\,vm\v(A\“/v.A\,vm\““““““““““““““““““““wm\““NA\NA\“NA\“/V.A\NA\NA\“NA\NA\““NA\V{A\NA\NA\NA\WA\NA\XXXXXXXXXXXX
3 ~ N N[O ||V |F O |©O |0 |[©|~|0 |~ |O|0 | N AN | o wn |© ~lo|~lo|a|o|olol<|la|=a
MW@«WL1 - = SITIE[EIEI2IFI2IFEIRICILICEIR|ITI22IRI2I[RISINISINIQI|IQRIIQRIRIRQ|IKIR|INIR|QSB KBS | (S
= ~ —_ —_ —_ —_ — —_ —_ —_ —_ —_ —_ —_ — —_ — —_ — —_ —
-1 IO ol 1O ol IO ol K5 ol 3 ol K3 ol K e E o K ! K ! 0 ! 1 ! 1 ! 13 o 130 ! 1 ! 10 ! 1) o 0 o D o K o S [ S0 [ 1S [ 1S [ 1S [ 13 o 10 o 10 o 10 o I [ KD )
5328 = = T2 (2 (2T |82 |82 122 (2|2 22|82 2| 28| 28| 2 2| 222 2 ) 21| 21| 2 2 2 2 2 | 2 I 2 I 21| 2 S
MC ~
=
[’
= o
w K} Jy [Py iy iy iy [y iy Py iy iy [y iy (i iy Gy iy iy Y [y iy iy Y iy Y iy i Y gl iy i iy Ry Jiiy iy iy iy jiiy gy Jiy gy iy gy iy piny [y iy gy iy gy Jiiy gy i iy piiy gy i iy iy Uy gy iy gy iy gy
= WwWinNjN IS SN[ IS NN IN(N T IS IN|N [T STININ [T ISININ|IST (T INN[TISINNISTTININIT IS NN IS NN (TS ININ IS ININ IS IS INN [ IS |DN|N [ =
S _Z2m(ZlZIZ|IZIZ|IZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZIZ|Z
< 0
WRWOMmu\@wmm@\@@\m@\@mm\@@mm@m@\m@\m@\mmm@mmm@mmm@@@\m@\wwm@wmm@wm@@\wa@\CWC@C@\C@
ST |~ |o|~|o|w|o|lv|o|ow|x|o]|x N alo|lolo|o|~]|ol~|o|wv|o v o |x - > > ~ ~
ECWMN333333333333“3“32323222222222%%%mﬂﬂﬂwmwm”wwmﬁWﬁmﬁMBMHuﬂmgmgm.loo_/oo
= — — — — — — — — — — — — —
- ol O o [ o 1 o |3 o [ o o e S et 3 ] | e i e e ! 5 e 6 e 3 e 3 ! €3 o 3 e I ] |38 o 1531 o 63 e 3 e 63 ] 1531 o 64 o 3 e [ ] K381 o) | o M
o
=
7]
[ < P P Py P Py Py Py Py Py iy Y PRy iy Y P P — — — — — — — |~~~ A==~ =~| =] = —_ —_ —_ —_ —_ —_
_._CL AR R R R E E R R E E R R E A R R AR E R R AR E R R AR E R R AR E R R A AR R R E E R R E E R R E AR R R A E R R A E R R AR E R R R E R E
2o da [Z|1Z|IZZ1ZIZIZIZ1ZIZIZIZIZIZIZ1Z2|1Z1ZI1Z21Z2|ZI1ZI1Z21Z21Z21Z2I1Z21Z21Z1Z21Z21212(Z2|12|1Z2Z212121212(21212|121Z21212|Z2|12|1Z2|12122|12|Z2|2122|1222]|2|2
Leeo= [2[2|I222|e|e|e|e|e|e(e(e(e|le|e|e|ee|lele|ele(e(e|le|ele|e(e(e(eleeele|le|e|e|e|lelele|le|e(e(elelele|e(eele|le|e|e(elelele|e|e|e
(== N Do) Nl el 1ol o) P ool P i g e D i ) Do Pl Pl Dl N Pl Nl P el D) ol Dl g v g v i et i o o P Y S N S N S Y S R S I R N N N I R R N e . Y
._._I._CN.N R R S A b A G R Y B A B A R B A B A A Y M T B B B G A B S B B B D S M B IS 2N B =l Bl = e SR R =) R NCoy Ry RC i) g Ry g R -~ - «©
=z |~ — — — — — — — — — — — — — — — — — — — — —
- G ol G ol 0 ol i ol G ol K3 o [ o 3 ol I ol K3 o 1531 o 13 o S el 163 oo |33 o 631 o 1S3 e 631 o | o i e 53 e 3 e 1531 o i o 3 e 63 ] 633 o |38 o 3 o [ o] 63 o |3
o
w & o & o & o & ) & o & ) & o & ) & ) ) ) ) ) ) ) ) ) ) ) ) ) 2 )
C _mx 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 < s = s = s s = s = s = s =
cRza 3| S |3 |3 |3|s5|3|5|3|3|5|3|5|5|5|3|5|5(3|5|3|5|3|85|3|35|3|5|3|5|5]|3
g =
w % ° % o % ° % ° % h=] % h=] - o - o - o k7 o k7 o k7 o k7 o k7 o k7 o k7 o
ECEZ2 |2 | s |2|&|2|8|2|&|2|s|2|&l2]s|2|l&|l2|&|l2|S&|2|8|2|&|2|8|2|&|2|8&8|2]S&
-~ — ~ o~ ™ I3e) < < o) 7o) © © ~ ~ © © > o) =4 = = = N N @ ® b s © © L ©
——
o @
a « c
woe S
JZuEs
Z2 o006 | <« m < m < m < m < m < m < m < m < m =3 Q < Q S Q =S Q < Q I a S a
w“AnnW.Sh = = N ~ 3 52 < < fre} [rs) < © ~ ~ o © = > = =] hat = o o el o] bl i ©w © © ©
MCNnb
m 3
= O
2
a
w =
-4 O
W_“ — ~ - o © o — o~ [ae} < [} ©
OS < ~ © 524 ~ ~ ~ ~ ~ ~ ~
=2
= [ Z-
uo z3 23
S o 50
oo e< © <
OW n|mm mm
o
=2 <& ES
= ST
25 9% s 3
w S22 SE 2 =
1 © n [a]
S ]s RKE g &8
o> S,C_yC WC.WC
o~ o) [ <] @ @
= o °=5 8% 83
35 B8 s 8
anl Rae L (=3
w
(=)
) Ull
o>
[T
o O

G.M. International DTS0402-3 Page 15/16



Termination Board supply connection details:

Power Supply
1

Power Supply
2

G.M. International DTS0402-3 Page 16/16



